Math 1
6-3 VocabularyApplicationsl

Use the picture to the right to answer questions 1-10.

K
1. Name two pairs of vertical angles.
Llond L6 2Y o0 £3
210 ot L THG

2. Name two linear pairs. 2

Name

Loty LIHGod LY A B
3. Name two pairs of supplementary angles.
£GED omd 25 £10 ord L]

4. Name two pairs of congruent angles.

LFord L 2| and L A
5. Name a pair of complementary angles.

23 ad Lb | ordh 2t

6. Give two other names for £2.

£ KBH L HRKR

7. Name a pair of perpendicular line segments.

st

L 8D (n 4 CF

8. Name an obtuse angle, an acutc angle and a right angle.

Olptuce,  glue Rigo
2 HED ¢ 3 2 6D

9. Assumingmz1 = 38%and ms2 = 58° find the measure of angles 2-11.

5 52° 24 j}gﬁﬁ 522
46 _:?D%‘? 27 3_8 :
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Sketch drawings of the following:
11.  ZNBC= <ABCand BG bisects ZNBA
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14. Lines m and n are parallel with transversal £,
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Use the picture at the right to answer the following questions:
15. m£ZCED = 4x+10and m£BEC = 6x
Solve for x.
Yx+10=bx I
10 = Ax
5=X
b*
Jx+10

16. m£BEC =’ 30"
¢(s) . |
17. m2CED = 530" /3
H(s)+io__
18, mZBED = (@Oé)



Use the picture to the right to answer the [ollowing questions:

19.1f m£l=14x+4nd mL3=16x-12

Solve for x. VéfHCa«f G.r‘.!ﬁl{ij =

[Hy 4 4 = fox-12

o> Qw2

b= 2% <<

(8 =3
20, What is the m21?

21. What is m£3

L™

22. What vocabulary word describes 21 and £37

Verdicodl amqles

23. What vocabulary word describes £1 and 227

Lintec Paic
24. What is m£2

( &™
25.1 m/8=2x+27 and mZl=12x+13
Solve for x.
Ax+ 2% + 12x+13 TI80
Je x & &= 180
[4x =140
X100
26. What is the;n/_yl?
la(ioy+13 =(127 ")
27. What is m£8
afie)+2F = HFT
28. What vocabulary word describes 21 and 28?

Same Side €xtetior

29. What vocabulary word describes 48 and 277

Lineoar Poir
30. What is ms7



Use the picture at the right to answer the following questions:

31. What vocabulary word desctibes EC? A

Angle Bisector |

32. mZAEB =8x+6and mZBFEC =4x+2
Solve for x.

Ryt FUxtrz tYxr2 =90
lox + 10 =90

lbx = 80

(x =5

33.mzAEB =/ ()

B(5)+ ¢

34.mZBEC=_J2%)
- (5’3 r

hY

35. m2CED =(/,g 72)

_ i

36. m2AEC :(f =)

Ho +22
37.m«BED =(4.-/.e;§
dA 32

38. Draw XY.

'_____..._1—47-”"?
x ¥

39. Draw 124

_'__.f"“"—'-'-’-?
= ~
¥ -



40. Draw PU

41. Give another name for PU.

uP
42, Draw ™
,‘i_f,_h._-—q--—""ﬂ
Tom

43, Give another name for ™.

e—>
Ml .
44. What’s another name for AZ7 A z Q
= .__'_,,_,'—’/—”.r_’.
AQ
e
45. Assuming O is the midpoint of DG, —
what is the length of DO? ._"______._-———-*'O G
- D
DO+ 9 ewn
46. What is the length of CT? A
A
C
CT = 36 em
47. Give another name for angle 1 using three points. N

L EAT

48. What is AT called?
Angle -

49. What is the measure of ZRAS?

50. Draw: YZ intersects line ¢ at point Z.

i



51. What is the measure of ZXUY?

52. What is the measure of 2VUX?

s
53. If LWUX = 2YUZ, find the measure of ZVUZ,

2(49)+ 2(30) = [58°

54.Find the measure of 2YUV,

109°

55. If m2YUZ is 52°, what is the measure of ZZUW?

13/°
56. Find x using the diagram to the right if m£RAS = 80°,
X+6 + dx+6d =80

X 470 = B0
£y = |0 X w2 A

57.Find the measure of ZSAT.

L/(/z) +iof






